=
<

g s |
= g |
2‘ 810_15_ C
~6/ o] E &+
1072 C
107
107 .
1073 £
10™ [
o o o107 sl e i b
T T 12 : : : -
o ) o [ : |E 1 4 | +
: ik R e (1T
1-_' o 0 e ‘;-ﬁ*—i- e N n: - -: I E -I-T-I.+: -I—:*
1 2 3 A 2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)
m I aseline

== obal
—— DQM_V0001_R000000001__Global__mkFit_var
—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
—— DOM V0001 _R000000001__Global

mkFit_jcore50maxCand-24DUPremoval

SICEWATL

o p/p.)

,_.
<
L

1072

1.4

Ratio

12

iy

0.8

E
4

107

1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

~ 1=
E .-
S
gN
o
e}
107}
1072
.910—3_ L | | I|
§ 15— 'Rkl EEEEEELCETERLEEREELEEEE
§ o Tromrtbl
107 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


